Question 13

Give the area of the region bounded by the graphs of 


[image: image1.png]Flx)=2x




and the vertical line x = -3. 

a) [image: image2.wmf][image: image3.png]239




b) [image: image4.wmf][image: image5.png]121




c) [image: image6.wmf][image: image7.png]115




d) [image: image8.wmf][image: image9.png]227




e) [image: image10.wmf][image: image11.png]118




f) [image: image12.wmf]None of the above.

Question 14

Give the area of the region bounded by the graphs of 

[image: image13.png]H(x)y=x'—10




[image: image14.png]Qx)=3x




and the vertical lines x = -3 and x = 6. 

a) [image: image15.wmf][image: image16.png]395




b) [image: image17.wmf][image: image18.png]389




c) [image: image19.wmf][image: image20.png]199




d) [image: image21.wmf][image: image22.png]193




e) [image: image23.wmf][image: image24.png]190




f) [image: image25.wmf]None of the above.

Question 15

Give the area of the region bounded by the graphs of 

[image: image26.png]Rx)=—x"+2




and 

[image: image27.png]



a) [image: image28.wmf][image: image29.png]



b) [image: image30.wmf][image: image31.png]



c) [image: image32.wmf][image: image33.png]



d) [image: image34.wmf][image: image35.png]



e) [image: image36.wmf][image: image37.png]



f) [image: image38.wmf]None of the above.
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